89, a) f(Sx“ -}-4)atx.
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90. 2) f(2—§+;)dx.

91.2) [(1ox* —;—2)41

2sin? x

92. a) f(2005x—3x2 -3)dx.
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93.a T =+ )dx.
)f(Scos x 2 ,)

94. a) f(x7 ~3sinx +2)gx.
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96. a) f(6——7~3<:osx)dr.
97. a) f(£~i+56")dr
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99. a) j(2~#-x°')dx.
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100. a) f(S’ ~3$1'nx+4)dr.

101-111. Crenajite YepTex BRIMHCITHTE mpomayy, @Hrvpm

101.y:8r~r ~7H ocio Ox.
102 p = o3 ~Ly= Ox 0.

103. p = 42 —3x-4 PIOCBIO Ox.
104. % 4, " x? =4y

105, y=5x—y2 4 ¢ # ochro Ox,
106. yz.rJ;y:.rz,.rz—l,,r=O.
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OTPAHUYEHHON famppmy JTUHAAMY:
107, y = 42 ~0x+8 1 ocrro Ox.

108. y = 2 B y=pxi?

109, y=x? _gy_ 5 ¥ oceio O,
110. y = 6x 3,2 H OCbr0 Ok,
11 y=x2 45 Hy=2x4+2



